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INSTRUCTIONS TO CANDIDATES

Please check the Test Booklet immediately on opening and ensure that it
contains all the 150 multiple choice questions printed on it.

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along
with the Question Paper Booklet. The OMR Answer sheet consists of two
copies i.e., the Original Copy (Top Sheet) and Duplicate Copy (Bottom Sheet).
The OMR sheet contains Registered Number/Hall Ticket Number, Subject/
Subject Code, Booklet Series, Name of the Examination Centre, Signature of
the Candidate and Invigilator etc.,

If there is any defect in the Question Paper Booklet or OMR answer sheet,
please ask the invigilator for replacement.

Since the answer sheets are to be scanned (valued) with Optical Mark Scanner
system, the candidates have to USE BALL POINT PEN (BLUE/BLACK) ONLY
for filling the relevant blocks in the OMR Sheet including bubbling the answers.
Bubbling with Pencil / Ink Pen Gel Pen is not permitted in the examination.

The Test Booklet is printed in four (4) Series, viz. A or B or C or D. The Series
A or B or Cor D is printed on the right-hand corner of the cover page of the
Test Booklet. Mark your Test Booklet Series in Part C on side 1 of the Answer
Sheet by darkening the appropriate circle with Blue/Black Ball point pen.

Example to fill up the Booklet series

If your test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer

Sheet or marked in a way that it leads to discrepancy in determining the
exact Test Booklet Series, then, in all such cases, your Answer Sheet will be
invalidated without any further notice.

Each question is followed by 4 answer choices. Of these, you have to select
one correct answer and mark it on the Answer sheet by darkening the
appropriate circle for the question. If more than one circle is darkened, the
answer will not be valued at all. Use Blue/ Black Ball point pen to make heavy
black marks to fill the circle completely. Make no other stray marks.

e.g. : If the answer for Question No. 1is Answer.Choice (2), it should be marked

as follows :

1O @ O ®

Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black
Ball point pen by darkening appropriate circles in Part A of side 1 of the
Answer Sheet. Incorrect/not encoding will lead to invalidation of your
Answer Sheet.

Example : If the Paper Code is 500 and Roll No. is 1309102001 fill as shown

below :

Paper Code Registered Number/ Hall Ticket Number
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10.

11.

12

13.

14.

15.

16.

S00/A
Please get the signature of the Invigilator affixed in the space provided in the

answer sheet. An Answer Sheet without the signature of the Invigilator is
liable for invalidation. Candidate should sign in the space provided on the
OMR Answer Sheet.

Rough work should be done only in the space provided for that purpose in
the Question Paper Booklet. No loose sheet of paper will be allowed into the

Examination hall.

Do not mark answer choices on the Test Booklet. Violation of this will be

viewed seriously.

In case of any discrepancy between English and Telugu Versions of the
questions, English Version of the question shall be treated as final.

Use of Calculators, Mathematical Tables, Log Books, Pagers, Cell Phones or
any other electronic gadgets is strictly prohibited.

The candidate should write the Question Paper Booklet Series Number and
Sign in the space provided in the Nominal Rolls while ensuring the Bio-data

printed against his / her name is correct.

No candidate should leave the examination hall until completion of

examination time.

Before leaving the examination hall, the candidate should hand over the
original OMR Answer Sheet (top sheet) to the Invigilator and carry the bottom
sheet (duplicate) for his/her record, failing which action will be taken for

malpractice.
The script will not be valued if the candidate :

i)  Writes the Hall Ticket No. In any other place of OMR sheet, except in
the space provided for the purpose.
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ii)  Writes irrelevant matter, including the religious symbols, words, prayers
or any communication whatsoever, in any place of the OMR answer

sheet.
iii) Uses other than Blue/Black ball point pen to darken the circles.

iv) Forgets to bubble the Test Booklet series or bubbling the other TEST
booklet series code than supplied to him/her.

v) Bubbles the circles incompletely or using , or x in the circles.
vi) Uses whitener on the answer sheet.

vii) If attempts any type of tampering (rubbing the circles with chalk
powder/scratching the circles with razors etc) on the OMR Answer
| Sheet. |

viii) Adopts any method of malpractice.

17. No correspondence will be entertained in this matter by the Commission, if
the Answer Sheet of the candidate is invalidated/ rejected due to the above

reasomns.
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1) Who gave the famous slogan ‘Educate, Organize and Agitate’

2)

3)

4)

(1) Ambedkar (2) Karl Marx

(3) Netaji Subhashchandra Bose (4) Vallab Bhai Patel
‘BBAOW, HAE0OW, Fo’ ©F HIFRS dTto JSBTHDH?

(1) wod&),6 (2) =558y

(3) Jed Hozrd BoEs's @) Sofrdd H86

Which one of the following is NOT a feature of 73" Constitutional Amendment.
(1) Reservations to SC & ST in local bodies

(2) Reservations for women in local bodies

(3) Compulsory Elections for Local Bodies within 5 years

(4) Reservation for OBC, in Local Bodies

7385 orargor DN H02080w) ®oFo?

(1) & dogos® ndrgg Soorw, Bifod dadsas) Edyouto

(2) FAE doges* Hirdosd dudins) sdyosdo

(3) 2 SoSgoet 2EF0 SHAHOM FIE Jogod AYsed 8D
(4) I%ogabS Soris0EH FIE Sogos*® 02i05asy oo

The Mandal Commission was appointed during the Prime Ministership of
(1) Indira Gandhi (2) Morarji Desai

(3) V.P. Singh (4) P.V. Narasimha Rao

D BTS HH08 F00S* $r06S EDAT Aoy Bobadod?

(1) =modomod (2)3ncg d7oD (3) 22208 (4) 2.2.86205¢ 0

Dinesh Goswami Committee was appointed to deal with

(1) Education Reforms (2) Economic Reforms
(3) Electoral Reforms (4) Legal Reforms
BIQ ARG ENE 808 TBS* Q DRoHP VoHowtdod?
(1) JoghoRs o) de (2) g8 oy, Seoend
(3) Ao Hod)beaen (4j T gO0HEFD B0 Geaen
5 {P.T.O.
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7)

8)

S500/A

Right to Information contributes

(1) Transparent Governance (2) Stable Governance

(3) Closed Governance (4) Dictatorial Governance
PEPTETEY, IS G087

(1) 6668 T (2) 36 Fos

(3) &by Fod (4) dosrosyss Fos

The National Food Security Act, 2013 does not include
(I) Mid-day meals Scheme

(2) Integrated Child Development Services

(3) Public Distribution System

(4) Supply of food for all

8aH eH e Bigo 2013 HOKS* BIB?
(1) Soorgim &'ad Heso (2) ds5 36 SRS
3) BEHodd 5598 (4) wosdd esso HEHT Bohdo

The Consumer Protection Act envisages its machinery at
(1) The National level

(2) The National, State and District levels

(3) The National and State levels

(4) The State and District levels

DIBrHET S0 T80 HOBE B0 (5560 GBS ohogroKo I FoS* HY Byod?

(1) =rédcsH Lo’ (2) =wéon, oy, 2er Fovos*
@) =éan, oy poned’ 4) og, 2 Fones®

The Indian Federalism is drawn from ‘
(1) United States of America (2) Britain

(3) Canada (4) Germany
88 JSrpg @ BFo F0D B8 Fokos?
(1) o03BE ) &5 vJds 2) Bos
(3) 3w 4) 2860
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9)

10)

11)

12)

500/A

The disputes between Government of India and one or more states can be
heard by Supreme Court under its

(1) Original Jurisdiction (2) Advisory Jurisdiction

(3) Appelate Jurisdiction (4) Nominal Jurisdiction

288 (HEHE50, 288 B oS WoNS Hopgs® &) oo 534‘:5 Do 2o
2 HOG Igor H0Y, 08087

(1) 585 568 2) HoFFEHEIS HOG

(3) whydy o3 508 @) ssrss 506

Inclusive Growth Strategy was adopted first time in

(1) 10™ Five Year Plan (2) 11™Five Year Plan

(3) 12%Five Year Plan (4) 6" Five Year Plan
DD 53@ Jr§Tm0 FNEEFOT wHd0oEaE0H?

(1) 9685 Howsd Her s (2) DE808S Howssy Her-9E
(3) oS HowSY Hea@¥ (4) ©85 Housg Heo9E

The Bayyaram Tank was built by

(1) RudraDeva (2) RudramaDevi (3) Mailamba (4) Ganapati Deva
DOirgdo DY ABYoN0E ASH?

(1) SEd9% (2) G5B (3) oo (4) KeaH@BHK

Which Qutub Shahi king was called as ‘“Malkibarama’.

(1) Jamsheed Qutub Shah (2) Ibrahim Qutub Shah
- (3) Abdulla Qutub Shah (4) Mohammad Qutub Shah
Q X o HOTENEM DeoSadTd?
(1) =ohs SosHdar (2) =@tro osdr
(3) weper KH&d> (4) Somb Hsdar
7 (P.TQ.
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13) Who supported Turrebaz Khan during the 1857 revolt?

- (1) MaskanAli (2) Dilwar Khan
(3) Moulvi Ala-ud-din (4) AbbazKhan
1857 8&Meréne® &HBerSrrdfd HF aQ)od HH?

(1) 25,5 «d (2) asSabzs
(3) T wer &ES (4) eSS

14) Who was conferred with D.C.L., an Honorary Degree by Oxford University

(1) Sarojini Naidu (2) Al Yavar Jung
(3) SalarJungI (4) Salarjung T -

- D.CL., o3 «§3§ orddgyd F68 Hepso odse 256?
(1) 3623 aosnk (2) wdoH a8=of
(3) 3 Ferbuof (4) SorgsS deorGmof

15) Whom did SalarJung I appoint as the Revenue Minister?

(1) Mukharam-ud-daula Bahadur (2) ShamshirJung Bahadur
(3) Shahab Jung Bahadur (4) Bassalat Jung Bahadur
B3y Soo@rr e Arerbeofi A58 Q0T E?

(1) Swopdo-&&-Fer adrays (2) Foabz=ol DITEPS

(3) &&ERoR wFrdys (4) oroSEof airdss

16) Which one of the following was not built during the reign of the last Nizam?
(1) WyraProject (2) Palair Project (3) Nizam Sagar (4) Hussain Sagar
& 806 T8S* I8 NS0 0 TSt EEBEH?
(1) 3o @ay (2) B0 @B (3) deroaris (4) SORIFHE




| 17)

18)

19)

20)

S00/A
Who wrote “Our Struggle for Emancipation™

(1) V. Shyam Sundar (2) B.S. Venkat Rao

(3) PR. Venkataswamy (4) Bhagya Reddy Varma
‘056 HoS D8 ASFY DA’ Porr) FRoN0S ISEH?

(1) d.zgodoodss (2) D.IV.JoEEra

(3) .eb.3ostadrgdd (4) erigog S8y

Who were the Editors of the Rahbar-e-Deccan News paper published in
Hyderabad

(1) Ahmed Mohiuddin and Abdulla Khan
(2) Bahadur Yar Jung and Kasim Razvi
(3) Nizamat Jung and Bahadur Yar Jung
(4) Akbar Hydari and Ahmed Arif

TETErESt HiH00DS Crab-a-68,S H8E JALE JB6H?
(1) ©8ns 3000508S Yok veReTryrs

(2) adrdrd oirSb:of @0k s*R00HS

(3) RerSoSeofl wo& wrdrs oirfuof

(4) %0 60 ©ok vib ©id

Who was the British Resident at the time of 1857 Revolt in Hyderabad?
(1) Davidson (2) Kirk Patrick

(3) Henry Russel (4) Charles Metcalf

TEorer&S*t 1857 8&ertn 80AS sTo0s® DEA TR0 JB?

(1) 30855 (2) 85 285 (3) wQ oS (4 @35 Hotrsd

Who among the following Hyderabadi joined the Azad Hind Fauz?

(1) Abid Hasan Safrani (2) Shaik Mohiuddin

(3) Ramakrishna Dhoot (4) Ravi Narayana Reddy
& 808 TETWE TS SO wirh Trod PES Bomtio?

(1) o8 555 HFd (2) HE BnraiodS

(3) D.odERErS (4) od Tocetd

9 [P.T.O.
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21) Who was the Governor General of India duﬁng the Fourth Anglo-Mysore

22)

23)

24)

War?

(1) Warren Hastings (2) Lord Wellesley

(3) Lord Dalhousie (4) Lord Minto

TS SOl - AT SE HNAROS* GBSBT KSHE BIES ISE?

(1) &68 “rgof (2) og§ ded

(3) of sTn (4) g oot -

Which of the following books was written by Raja Ram Mohai Roy?
(1) Gift to Monotheist (2) Whither India

(3) The Destiny of Human Life (4) Neel Darpan

& 800 T8S® T AFTICOD RS YJEo?

(1} aR & IrS*8on] (2) 266 qo&os>e

(3) & 3P B HogHS B (4) QS s6yS

Who was the leader of the Young Bengal Movement

(1" Keshab Chandra Sen (2) Ishwar Chandra Vidya Sagar
(3) Derozio (4) L bendranath Tagore
c%0ff BorrS rdigdy oD ABE?

(1) 345 SoshS (2) S¥BSod dergrHEE
(3) &cza» 4) FDodTs &rirs

Who founded the Satya Shodhak Samaj?

(1) BR. Ambedkar (2) Jotiba Phule
(3).. GH Deshmukh (4) MG Ranade
S85°6E ddrazo @é&)c&: R5%?

(1) Debwody,s (2) &8 3
B) 2835506 @) HS553

10
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25) In which year the Arya Samaj was founded?

VigdSrE DY @;ﬁ)oﬁa&o&?
(1) 1875 (2) 1861 (3) 1774 (4) 1880

26) Who led the Bardoli Satyagraha

(1) Vallab Bhai Patel (2) Rajendra Prasad
(3) Motilal Nehru (4) Jayaprakash Narayan
GO DeYTIE ToHEE SiroNod JS5K?
(1) Sefiercd HBS (2) oBoBHrs
(3) FIrderS JTwe (4) BODPERA TT°CED
8 | 27) Who among the following was not a member of the Congress Socialist Party
(1) Jaya Prakash Narayan (2) Acharya NarendraDev
(3) Achyut Patwardan (4) Motilal Nehru
& 808 TBS° 5K ToRD FAOY > Jehgd s°d?
(1) zohpea ToahHe 2) wady $oEBS
(3) wgs HLSES 4) IrdeorSI T

28) Which book of Tolstoy influenced Mahatma Gandhi

(1) The Nation (2) The Kingdom of God is with in you
(3) War & Peace (4) Honesty

s ErSRRoDHs H0m0BoDS A YREo HHEYTORI o Herddo THoB.

) (1) & 348 (2) & BofitsSr &P mE SE DS A G
(3) o6 @o& o 4) &3y

29) Who among the following was not associated with the assassination of Saunders

at Lahore
(1) Chandrasekhar Azad (2) Bhagat Singh
(3) Uddam Singh (4) Raj Guru

L & 808 T0S* e PwES® Foil) rEgEt HowoBo BAB ISE?
(1) Hosipb eeh (2) #uSvoR
(3) &Zodoh 4) o288

11 [ET.0O.




30)

31)

32)

S00/A

‘Dyarchy’ was the most important feature of .
(1) 1892 Act (2) 1909 Act (3) 1919 Act (4) 1935Act

‘Botss Hoared’ & 0B TRS® A Wio HBES?
(1) 1892 B&o (2) 1909 w$&o (3) 1919 @0  (4) 1935 wéo

In Telangana State, red soils are predominant with a percentage of area about
Boorrm o’ HTEPE AP Fov QY T TEYT?
(1) 48% (2)°)55% 3) 5% 4) 62%

The Headquarter of Northern Telangana Agro Climatic Zone is located at
(1) Karimnagar (2) Manchiryal  (3) Warangal (4) Jagitial
&6 Boorrmn SgSFoH 887 Sode HES Sorged Sogo?

(1) 86odKE (2) odoge (3) S60KS (4) =dege

33)

34)

The percentage of rainfall Telangana State receives throﬁgh south-west monsoon
Boore o°g SEFS0e* Fand H&HHSTO To ©PoB SEFS FTEo DIFHT?
(1) 70% (2) 80% (3) 90% 4) 95%

Kawal wild life sanctuary is located at
(1) Pocharam (2) Jannaram (3) Eturunagaram (4) Pakhala
g Sdgared DodEm oo Ko @oso?

(1) &Fwso (2) asaydo (3) werd amrdo 4) &so

35)

In Telangana, the mineral which contributed highest value, after coal, in the year
2013-14.

(1) Iron ore (2) Manganese  (3) Lime Stone (4) Granite
2013-14 H0SE)B0eS* Boomrnes® T Sutd S WToDo HDEFQS PI=HE?
(1) S0& 2580 (2) B7r0KS (3) H&HDpoon @) &




36)

37)

38)

39)

40)

500/A

Major source of power in Telangana at present is

(1) Thermal (2) Hydel (3) Nuclear (4) Bio-fuel
Boomrae* HSIEs Hs emdo?

(1) &as (2) was (3) Srg8od (4) adRr-YgoDd)
Aero space industry in Hyderabad is located at

(1) Turkapally (2) Tukkuguda (3) Adibatla  (4) Pollepalli
TETerES* AETNR HoFS Ko ©HBIo?

(1) 5,59 (2) oy ke (3) eosd (4) 2399
The district of Telangana with the highest percentage of ST population

(1) Warangal (2) Khammam (3) Adilabad (4) Mahaboobnagar
Boomre THos® NErgg Bl ader wdds TEo Ko Ber?
(1) SoKsS (2) w890 (B) wderers (4) SodrardSsd

Number of districts that the Hyderabad Metropohtan Development Area
(HMDA) spreads over
(1) Three (2) Five (3) Four (4) Six
TEoerE B SOLS BIHHOE 0oSr (W5.00.8.0) ) Bepod” DY
408?
(1) Sowehd (2) =26 3) s (4) o
Mission Kakatiya does not aim at
(1) Desilting Tank beds (2) Strengthening Tank bunds
(3) Reparing the feeder channels (4) Linking of Tanks
WDAS 57880 »PFo 2B §W?
(1) 3O Frosds Q) DY Ko BOBEHL
(3) 546 srendod erhiciot (4) BHHoH oY

13 [P.T.O



41)

£2)

43)

44)

45)

46)

500/A

A line joining places with equal amount of rainfall is

(1) Isohel "~ (2) Isohyet (3) Isoneph  (4) Isomif
B SEE HBTOR EeoEr &) Bp? _
(1) oS (2) oS 3) =835 4) 289
Which of the following earth quake waves are most destructive

(1) Surface Waves (2) P-Waves (3) R-Waves (4) L-Waves
& 808 PrEod Slomrws” wEsod IEOIETRID?
(1) &spse sdomen (2) D-Sdoren (3) ©6 -Sdores (4) A6 - Sorren

Which one of the following mountain chains has two dissimilar types of
vegetation on its two slopes/sides

(1) Aravalis (2) Eastern Ghats (3) Vindhyas (4) Western Ghats
8085 WEYPAS 2 H5ee @Feven Bodh FHo TeveD IPI) SE doddKem?
(1) wose (2) srmy shSen  (3) dogy Hgeren (4) DS Edosoen

Terra Rossa is a type of
(1) Mountain (2) Ocean Trench  (3) Fish (4) Soil

. BoETA) o3 8.
(1) 6580 (2) ds06 wrso  (3) B (4) 3988
Indigenously built Atomic Power Station in India
(I) Narora (2) Rawat Bhata (3) Tarapore (4) Kalpakkam
T OSBToS* B8 HP0S* VDYNS weNtgS Soo? :
(1) &&'o (2) osSerts (3) eocyrs @) soyo
The greatest potential for the generation of Tidal Power in India is available at
(1) Konkan Coast (2) Coromandal Coast
(3) Malabar Coast (4) Guyarat Coast

| rOSBEeSt Ber (Fen-en) %8 wdEor 0B (@FroLo?

(1) Fossdso (2) E6%0086 850 (3) Hewrbbdo (4) Hhaos 8o

14
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)

48)

49)

50)

S500/A

Which of the following characteristics of a population is not evident from a
population pyramid?
(1) Age Structure (2) Sex Structure
(3) Race Structure (4) Dependency Ratio

& 808 W& aTer ofros® ager DENE Tgor BAD KSoR0tBH0?
(1) $o%do doyeo (2) & So0cin YKo VoY
(3) @8 doymo 4) eEsdHt aTe IS
The percentage of population on earth lives south of the equator?
©%0% Bogo aTerS® ErSSipt GEras VOV Ty FTE0 WIrhT?
(1) 10% 2) 20% (3) 25% 4) 40%
T-Hub in Hyderabad is located at
(1) 1T Hyderabad (2) IIT Hyderabad
(3) HCU (4) Raheja Mind Space
&8-58 Boo TETerhS” A8 ¢ wol?
(1) 208 Téowrd (2) o8 Toowrd
(3) wSh.oiw (4) S oG
India’s decadal population growth rate has been continuously declined since
rOSBY aaer NG Bt & STRo od) SHVM SHEr 5087
(1) 1971-1981 (2) 1981-1991 (3) 1991-2001 (4) 2001-2011
The sound waves with frequency below 16 Hz are called

51)

52)

(1) Infrasonic (2) Ultrasonic (3) Esonic (4) Extrasonic
16Hz 808 880,58 &&:9dg0 o ¢ Sbored D208
(1) alEreRE (2) ver¥NE  (3) =IF (4) 25ErRFRE

Which of the following is not a parasitic disease

(1) Filariasis (2) Malaria  (3) Tuberculosis (4) Leishmaniasis

& 8o DEYK) TR A8 FoPAE T 5°E?

(1) »docsr (2) %86cser (3) trgwb HERS (4) ORSTIETHS
15 [P.T.O.
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54)

55)

56)

57)

58)

S00/A

The Test that identifies Sugar levels in human blood is
& 808 8S° SrSS Ko 8,8 Pow OB HEK?
(1) HINI (2) Hb2C (3) H5NI1 (4) HbAIC

Excess nitrates in drinking water causes

(1) Fluorosis (2) Anaemia

(3) Methaemoglobinemia (4) Reproductive product
SHABS S TS0 PBET 98 woero Se..

() 605 (2) vdor (3) WIIrTHIDr (4) 6SEES @4§

Relative loudness of sound is measured in

(1) Megables (2) Decibles (3) Pebbles (4) Coenoble
S50 BES & 808 HFDODS PETrP0S ELORNH?,
(1) Srad (2) @vad) (3) e 4) &Fyns

The pH value of an acid is

(1) Below7 (2) Above 7 (3) Equa'to7 (4) Equalto0
@30 Qg pH dend?

(1) 7 808 85,8 evotwod (2) 7 808 I8y 3 Sodnod

(3) 78 dS»S0 (4) Boms* ss=Se

SARS (Severe Acute Respiratory Syndrome) caused by

(1) Virus (2) Leishmania (3) Bacteria (4) Tripanosoma
SARS (08 85308 798" d0208 T58)8 8007
(1) 35 (2) darRos> (3) erglocse (4) BTESe

During the process of inspiration of hungs, which of the following is pumped
into blood

(1) Nitrogen (2) Carbon dioxide(3) Oxygen (4) Carbon monoxide
H0BHOO™ HUD BECHS® & 808 TVS® DB SEoS'E HEIT BYF0B?
1) s820 (2) w65 degs () efad  (4) $6S 30596
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59)

60)

61)

62)

63)

64)

S500/A
The scientific study of earthquakes is known as

(1) Seismology (2) Cosmology (3) Ecology (4) Pathology
BrE0TODH FTROVOM BEgEHS0 BANLrR) S0ErED?
(1) e (2) s (3) ose 4) ooz

Right part of the Human Heart contains

(1) Deoxygenated blood (2) Dehydrogenated blood

(3) Oxygenated blood (4) Hydrogenated blood

S5 5008 Kb ariio BID §§ Hotnod?

(1) o8z s ¢80 (2) &d2d &g S50

(3) wdhuss® sr&d 880 4 SERIS ErbS 8o

First order consumers are

(1) Omnivores (2) Decomposers (3) Herbivores (4) Carnivores
[0EE SEXS IVRHTTE0?

(1) Sd&gesgsen (2) agodrxd) (3) msHFen (4) SrodFtren
Plasma phase is one state of matter that exists at a temperature of the order of

I I8 28 ém'g BoCrH0, 2l & 806 BNWAS G AS DBHS* &0E00H?
() 10k (2) 100k (3) 1000k (4) 10000k

As per WHO, the most wide spread nutritional deficiency, world wide is

(1) TIron (2) Calcium (3) Potassium (4) Sodium
WHO (55760, 950%508° @88 aaeres” &) FAsSE 90 287
(1) =88 (2) s®oso (3) &rérchHo (4) R#&aso

The triple point of water 1s around
DE BIG DooH Bk, S
(1) 100°C (2) 100°K (3] 27¥K (4) 273°C

[P.T.0.
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Which gas is responsible for the characteristic smell of the sea

(1) Acetylene . (2) Ammonia
(3) Dimethyl sulfide (4) Tetrasulfuric Dichloride
& o5 BrDODS D TP Sod SS0E T (Smell of the Sea) $%308?
1) Jne8s 2) ©3mAcs

() BN3S ¥BE (4) Bodeomos 3s0s

66)

67)

Which of the following writs is issued by the higher judiciary in case of illegal
detention of a person?

(1) Quo Warranto (2) Habeas Corpus

(3) Mandamus (4) Certiorari

28 $580 $§ Sg80E0m™ DYoHOARH D S TgaH FTres =8 Hosw 8¢
(1) & odoss (2) T20HS TGS

(3) Srossd | 4) o&@rod

Separation of Judiciary from Executive is enjoined by
(1) VII schedule to the Constitution (2) Judicial Decisions
(3) Directive Principle of State Policy ~ (4) Preamble to the Constitution

TgoDIZIRR SEGROE g5 K00 Ieh Bohiso ©IB 808 TES* HEYSwbod?

68)

(1) oargorios ™ S ndrgSs® (2) &g does*

(3) «@sE drgost 4) oergos BIeweS*

The day on which the Constituent Assembly adopted the Constitution of India.

(1) 25 October, 1948 (2) 25 October, 1949

(3) 26 November, 1948 (4) 26 November, 1949
- Targol DOAS erds TegomR) SITRODS &er?

(1) 25 vges, 1948 (2) 25 o, 1949

"~ (3) 26 $S50w8, 1948 (4) 26 $S50w8, 1949

18




69)

70)

71)

S500/A

Which of the following Constitutional provisions directs the State to prevent
concentration of wealth and means of production in a few to the common

detriment?

(1) Article 39 (c) (2) Article 39 (b)

(3) Article 39 (d) (4) Article 39 (e)

808 TES* Q Tergol (HEC0 DN, GEEE LTI FRI0BST S Sodgyso
SOER DEHeR) JPB0E?

(1) =g86-39 (o) (2) «p8S-39 (b)

(3) ©p85-39(d) (4) «885-39 (e)

The newly inserted Article 43-B in the Constitution deals with

(1) Participation of workers in the management of industries

(2) Promotion of cooperative societies

(3) Uniform civil code for all citizens

(4) Provision for early childhood care and education

a6 Tergofos® atdse QS wPsS 43-B 08 Sod a8 H02080NN0?
(1) DoFse crasrsgs® oo eridgige

(2) J3Fss dodrod @FErowhd

(3) ©osd FhedH GInd JEBEr) SPodRke

(4) wroosH Y SoHHS* EREISOHS (FE 0k Dy

Which provision of the Constitution empowers the President to appoint the
National Commission for Backward Classes?

(1) Article 342 (2) Article 344

(3) Article 340 (4) Aurticle 339

oargofos®d D (BESmo HEC0 TPN8 8o ILEwdS SSiHe ENASK
DS EY?

(1) epss-342 (2) eQ85-344
(3) wps8s-340 (4) ©p8s5-339

A




72)

73)

74)

500/A
Which of the following is not an eligibility condition to be a judge of the

Supreme Court of India?

(1) Judge of one or more High Courts for at least five years

(2) An advocate of Supreme Court for atleast ten years

(3) A distinguished jurist in the opinion of the President

(4) Above 45 years of age

B@OE RS FrgoBrgm AohAowakhis wsdto B wf$?

(1) 258 Bo @088 oD TERLS* K0 v SoSHores TgeHSrgm H
WS wdogsdo

(2) @OoE'RS* ED%0 10 HoSKhTen TLEHTRT HIVHS DTS

(3) TEH8 SRS* 28 ToH EADAT erdonito

(4) 45 DodgTre Eam) KNS oD okso

Which of the following is not a standing committee of Parliament?
(1) Public Accounts Committee

(2) Ethics Committee

(3) Select and Joint Committees on Bills

(4) Business Advisory Committee

808 T8S* D& JEoBS'R o oor Hodoo ?
(1) S e g8 (2) 38 dende S
(3) BF Hodckn wind Hege 8 (4) H2I5 edsonad (HoHk) £

What is the Nobel Prize in Economic Sciences_ 1s called

(1) Magsaysay Award (2) Swedish Bank Prize

(3) John von Neumann Award (4) The Sveriges Riksbank Prize
©QE FRoS* 3T IBS RED 200tr?

(1) Jwsdd war§ (2) 587 argos BF

(3) =S 88 SrgS v (4) g0BS 0F) ergof &




75)

76)

77)

78)

79)

500/A
The popular ‘Fair’ celebrated by Gonds in Adilabad district

(1) Sammakka Sarakka (2) Nagoba (3) Teez (4) Komarelli
wdeorrd Berd® fofhen atYHd HIvg ds?
(1) 389%, 6, 2) o (3) &F (4) &5009

The inclusion of which caste in North India in the list of backward classes was
struck down by the Supreme Court recently?

(1) Patels (2) Meenas (3) Jats 4) Guyars
G808 T TOS™ A Hord) IDEasS Sk Phes’ DY) 3o DY
§P300s? ‘

(1) »BSen (2) doaen (3) =réSen 4) sgs
The word *Thari’ in Telangana denotes:

(1) Land having water source (2) Land without water source
(3) Forest land (4) Grazingland

Boomrad® ‘80" ©dddo JSB0HKa?

(1) 58 558 Ko gr (2) DB 558 B g

3) od g : 4) SHHo DssH d FHD
The “Jammi’ leaves given to each other on the eve of Dasara festival in Telangana
are called

(1) Prasadam (2) Bonam (3) Nyvedyam (4) Bangaram
BB0° Hohrat 2E0E8EMH RENKHT 22 WK Boomrns® KD Heod?

(1) @arso (2) &%o (3) g (4) =omrdo
Who led the TNGO’s Strike during 1969 Telangana Movement.

(1) Sridhar Reddy (2) Madan Mohan

(3) Amos (4) Keshava Rao

1969 Boors wEgHos® 8.5.2.5 Sy TADESt0 SroDod ABK?

(1) &x6og (2) 2853r5S

(3) wad 4) 29509
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80) Who was the play back singer of the song “Palleturi Pillagada.....” in the film

81)

82)

83)

84)

- “Maa Bhumi™?
(1) P.Leela (2) S. Janaki (3) Sandhya (4) P. Susheela

S g’ DASTS® “DBED bymEr.. €I JhdH F88 JdSg Tad?

(1) .90 (2) ARS8 (3) ®Hogsy 4) w2080

The Six-Point Formula was incorporated in the Constitution of India under
Article

s drEro HETR) TErgoros” @ BRESS® FoHdT?

(1) 371-A (2) 371-B (3) 371-C  (4) 371D

The degree college in which Dr. Jaya Shankar served as the Principal

(1) Kakatiya College (2) Mahboob College
(3) Nizam College (4) CKM.College
&§0 B.2090%086 PRYIST HATHI &f SeTo?

(1) s88chH Sevo (2) HDoFrard SeTo
(3) Rezro ez 4) »3.QoseTo

Which of the following food item was registered as a Geographical Indication
(GI) recently?

(1) Hyderabad Biryani (2) Rasagulla

(3) Hyderabad Haleem (4) Double ka Meeta

& 808 TBS* 3 WIS HIQR) & Sy w8 FHYE SrdET SBrdd DTE?
(1) hoerd dogd (2) odede

(3) Tooersd Td (4) &end 5° dér

Who among the following will be treated as ‘Backward Classes’ as per 2014
Judgement of the Supreme Court?

(1) Refugees (2) Disabled persons

(3) Transgenders (4) Displaced persons

2014 12408°8) 85D (550 & 808 TVS® IS IdoERAES Soerenrr HOKedotEED?
(1) sobdoen (2) DEerorren (3) rereo (4) dogdéden
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85) Which Umvers1ty conferred the ‘D.Lit Honoris Causa’ on Dr. BR Ambedkar

in 1953.
(1) Osmania University (2) Columbia University
(3) Marathwada University (4) University of London
1 19530° g6 0.66.0086),58 ‘8.08 (T6S Trgoes) Borso TS HdErgwaho 26?
(1) sdmposr df0Egwaho - (2) Fwodssr dfDTgGRo
() Svimm dEITgO00 (4) ©08S dfdEgooo

86) How many riparian states are there in Godavari Basin?

(1) Five (2) Seven (3) Three (4) Six
+ ForSd &8 H0T 58 \@rogos® W) ope Hopg?

(1) s 2) 7 @) s “4) 8

87) TMC is an acronym of
- (1) Thousand Million Cubic Meters . (2) Ten Million Cubic Feet

(3) Thousand Million Cubic Feet (4) Ten Million Cubic Meters

TMC &3m? | N
(1) Dong DOHS H5Y Doty (2) 98 2OaHF WsH whorHe ’
(3) Bowg WOHE WY wdorHed (4) 58 00HE WY Dotacy 1

88) ‘Pranahita’ river consists of which of the following rivers?
(1) Pen Ganga, Wardha and Waine Ganga
(2) Poorna, Pen Ganga and Wardha
(3!) Pravara, Waine Ganga and Manair
- (4) Kolab, Wardha and Pen Ganga

@easrd 86 808 Jurth $Ehe SRS THT DE)EE0E?
(1) &Ko, T, JonsKok 2) &g 5&5?10{1, T¢
(3) ©88, oS KoK, Srds (4) Fod, >, KoK

23 [P.T.O.




89)

90)

91)

92)

93)

, 500/A
In which district is the proposed Ichampalli project located?

(1) Karimnagar (2) Adilabad (3) Medak (4) Nizamabad

BFBE BFoHY |FBE O Bers* $od?
(1) &bosKE (2) wdererd 3) 3osE 4) derdrerd

Who was the Chairman of the Godavari Water Dispute Tribunal?

(1) Brijesh Kumar (2) R.S. Bachawat
(3) M.P. Singh (4) R.S. Sarkaria
B0 aore don6 H0X,0 (Bagss egghHenT S§550008 FT6H?
(1) 9ER L8506 (2) =635.200758
(3) Qo0.2.208 (4) e6.3%.509005

Who among the following officers contributed immensely for abolition of
- Vetti/Begar in Telangana region?

(1) JM. Girglani (2) V. Sundareshan
(3) SR Shankaran (4) PVRK Prasad
% 808 T0S" Q ¥RFD Bworn Fodod® 3G/ BrG ASTESEH o K Br?
(1) Bdo.Aged 2) 2206845
' (3) 95.865490865 (4) 22.66REH>E

The famous centre of Pilgrimage in Medak district is

(1) IdupulaPaya (2) EduPayala (3) MooduPayala (4) AruPayala

DEE BePS® Ho (D OirETR00?

(1) adHodad (2) dbdrabe  (3) Hrd dabo  (4) et b

Devadula project is situated in the district of

(1) Warangal (2) Khammam  (3) Medak (4) Adilabad

BTe DB & 2eTS* God?

(1) S&oKsS - (2) e%y0 (3) sk (4) wdorerd
24
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500/A

‘Gun Park’ denotes
(1) Police Head Quarters in Telangana
(2) Memorial of Telangana Martyrs

(3) Head Quarters of Golconda Army

(4) Park Housing Memorial of Police Martyrs

{8>G), ©o&?
(1) Bovoras® FO r&EsgEd) (2) Beoorn vHEAHO HPd SrHo

- (3) Aoyo6 b rEsEES (4) b %8 gHEgo o TG,
‘Kondagattu’ is famous for

95)

96)

97)

(1) Temple of Sri Anjaneya Swamy  (2) Temple of Narasimha Swamy

'(3) Temple of Venkateshwara Swamy (4) Temple of Ayyappa Swamy

Sotiity BR8 BHY?

\1) 3 woudchHAYN BarwcHo (2) § S8bosrAd BarechHo
(3) & [oEBHIAgD B0 (4) 3 wonghydgd Baroodo
The first day of ‘Bathukamma’ celebrations is called

(1) Toli poddu  (2) Saddulu  (3) Engilipoolu  (4) Samburalu
DSOS HORT VSN WG S Ao0trtd?

(1) o>y (2) deen (3) QoadyFen (4) Hoewoen
Telangana Government announced Kaloji Narayan Rao’s Birth day as
(1) Telangana Official Language Day (2) Telangana Language Day
(3) Telangana Heritage Day (4) Telangana Cultural Day
Boore HEE0 S Tooheoy JPS Twd 5D HESoNOB?
(1) Beoors ©§sY grar BS'E)N0 (2) Boomrs grar &S'Edo

'. (3) Bworre TEIE BI'EDo (4) Boorrs FoBE BS'Edo
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98)

S00/A
Which one of the following country has partnered with India to develop Brahmos

- missile

99)

(1) UK (2) Israel . (3) USA (4) Russia
& 808 T8S® J Bdo PrESRT0S" KOV @ TIVYD §He3R ErEroBood?

(1) 0306 8ofitS: (2) a@-ond (3) emos (4) oirg

Which one of the following National Laboratory is located in Hyderabad?

(1) Research Centre Imarat (RCI)

(2) National Aerospace Laboratory (NAL)
(3) Defence Research & Development Establishment (DRDE)
(4) Centre for Air Borne Systems (CABS)

& 808 TS’ 2 =8aD BOFET Vog TETwrES' ¢K)a?

(1) ‘w3768 HoFGT Sogo (RCD

(2) 0SS 870D BeyBL6 (NAL)

(3) &%) 63§ BSOTHOE AT (DRDE)

(4) otrb HE Jonb 5°6) BYIY (CABS)

100) Which one of the following is a Submarine-Launched Ballastic Missile (SLBM)

(1) Agni-4 (2) Pridhvi (3) K4 (4) Akash
& 808 T8S* 28 werodTA Kod PRAFACD wrBRE E5e3?
(1) on)-4 (2) o83 (3) 3-4 (4) ws§

101) The main objective of Jalaharam, a new Policy of the Government of Telangana

State is '
(1) To secure water for the industries (2) To save rain water
(3) To supply drinking water (4) To supply water for irrigation

2OHG0 PRE Boorre (HehEt0 Bng), SrEd HEso. TR SPigEFo?

(1) HogsosH ssons dik bEdosto (2) $8H doHs wor Bohko

(3) e%ds v8HT Bobhio (4) Hobrwk DS BEHT Bokso




500/A
102) Which Union Budget proposed to set up India’s First Women’s Bank under

Public sector

(1) 2012-2013 Budget (2) 2013-2014 Budget

(3) 2014-2015 Budget (4) 2010-2011 Budget

2 2RS* PRESomr vy 6% ©8gE argof Habes Sorfos® (EoDosEs
la)goa)oa‘do? '

(1) 2012-2013 @& (2) 2013-2014 @gés

(3) 2014-2015 2@ (4) 2010-2011 &3y

]

103) As per 2011 Census, Female Literacy rate in Telangana State is

20115 23ver fes [©5°00 Boomrnd® Sirde wgodgs 780?
1 (1) 80.89% 2) 73% (3) 57.99% (4) 60 %

104) Value of all goods and services produced within a year is called
(1) Gross Domestic Product (GDP)
(2) Gross National Product (GNP)
(3) Net National Product (NNP)
(4) Human Development Index (HDI)

28 J058)6 5r00S” BRohHomr G&8 vond ShIe wgo?
(1) 3po detards (2) 3po =éars)@
(3) Q&S wbRrSHS (4) Srdrps)y S0

105)National Income at Factor Cost means
(1) National Income at Market Prices - Indirect Taxes + Subsidies
(2) National Income at Market Prices + Indirect Taxes + Subsidies
(3) National Income at Market Prices - Subsidies + Indirect Taxes
(4) National Income at Market Prices - Subsidies - Indirect Taxes

PFgE6 59 WsT80 FBoH wrrohHo wdm?

(I) =80% worabo $37)E Gooe® - HE%E Hneo + vRRen
(2) @805 woralo S79),E St + HE'E DHnen + vYben
() =83% sraio 537, GBS’ - DE)Ren + HEE HIYen
(4) wéckH emoso B79E5 $o0S* - dfHhen - HOE Hgen

27 IP.T.O.
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106) Lalith Bhargava Committee was reviewed on

(1) Revenue & Expenditure (2) Imigation
(3) Landreturns (4) Industrial development
0dF grgd o B DNEoN0H?
(1) ok 960 Sgesres Q) d8FHEODS
(3) &rdod),SaeS (4) >oFNTIR DS

107) The Sree Nidhi Credit Co-operative Federation Ltd. has come forward for
promotion of

(1) Dairy Activities (2) Egg Production

(3) Fish Production . (4) Vegetables

306 §-05B55 DABAS 3D ©DIHED $008E SYOB?

(1) o a&RosH Sowodod (2) g &$)88 Sono0sod
(3) FHe odHsNE (4) srémohe oS

108) Gross State Domestic Product of Telangana State during the year 2014-15 in
current prices is about

(1) Rs. 2 lakh crores (2) Rs. 3 lakh crores

(3) Rs. 4 lakh crores (4) Rs. 5 lakh crores
O 6o (Hstto Buormrn Ty BIRrSE 2014-1565°7

(1) & 2 ofe &%y (2) &r 3 ofe &y

(3) or. 4 ofe (4) &> 5 ofo 5

109)Honey processing unit for agency tribals established by Girijan Co-operative
Corporation Limited at

(1) Kamareddy (2) Nirmal (3) Eturnagaram (4) Kondangula
DBl @08 HdmHe LOIEE AdaS JHEC SEYBLS Tgor B3 @ VBN Bog
QTR0 BHE @rogo?

(1) s5738 (2) s (3) @NrdH oo (4) Fodore

110) Urban population in Telangana as per 2011 Census
2011 28 Kead (D580 Boorre o*@oes‘ S&e wIg?

(1) 25.5% (2) 38.88 % (3) 0% (4 455%
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111) The veteran cricketer from Hyderabad is known as cultivated stylist
- (1) VVSLaxman (2) Azharuddin (3) Jaisimha (4) ArshadAyoob
S9IBE RORY™ Hth BuYKd) TETIrE FBLE JS?
(1) 2.2.08.085& (2) =S (3) BdoEr (4) odS vcrd

112) The player from Warangal who revolutionized Indian Ball badminton is
(1) K.Rajaiah (2) J. Pitchaiah (3) R.Mallaiah (4) T Lakshmaiah
2 $60KS sirrd wrSerdiobd eb JPIEBoTR?
(1) sozahy (2) Bokg (3) e&.50e0kg (4) 8B.ogodg

113) Who is playing the lead role in Ektha Kapoor’s biopic on Hyderabad cricketer
Mohammad Azharuddin :

(1) Sharuk Khan (2) Abhishek Bachan

- (3) Emraan Hashmi (4) SaifAli Khan
ITEIE aRrnE TETrESt (§8L8 s G IS8 FaRT0?
(1) r&HEp-S (2) ofuSaws
(3) adrsdy 4) %owrd wdgrs

114) Which is the most affected tribal community due to the proposed Polavaram
* project?
(1) Gonds (2) Chenchus (3) Gottikoyas (4) Lambadas
H8X0E Fosto DB S0 S SHFSH oS 32

(1) &odoen (2) BowHen (3) g soven (4) eoourben

115) Which town in Telangana was originally known as Indur?
(1) Nizamabad (2) Mahabubnagar (3) Karimnagar  (4) Medak
Bo0ore (oS0 2 HEEI0 NGELT ROEFHT Dendadod?
(1) derdrerd (2) So&erddns (3) 86osKs (4) JosE

116) Dr. M.M Kalburgi, the writer who was killed recently was to the former Vice-
Chancellor of which University.

(1) Karnataka University (2) Mysore University

(3) Humpi University (4) Gulbarga University

a8Se SrEg8 KBS 88 Gond Jo.00.8090 2 ILITLArIS BodS Sk JD
Tl

(1) sonbE digdargocdo (2) drE dfgdTrgoHo

(3) &rob dEgdTgoGo (4) BoeoyT dfamrgoco

29 [P T.0,
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117) Alexis TSipras is the Prime Minister of

(1) Brtamn (2) Australia (3) Greece (4) Germany
©BYD SPBD & BF PES $H08?
(1) @& (2) egdesr (3) &S (4) 250

118) The following is Not true about Prime Ministers foreign visits in the month of
July 2015

(1) Visit to Uzbekistan - (2) Visit to Combodia

(3) Visitto Tajikistan (4) Visit to Kyrgyzstan

B 2015 JoTY HES Ho® BT HghdOE H02080DIE & S08B RS ?
(1) &&B8FS Hoghas (2) Boa*Bosr HOgS

(3) S8y HOghS (4) 80A%;S DTS

119) The first International Day of Yoga was celebrated on
(1) 21*May 2015 (2) 25" June 2015
(3) 21 June 2015 (4) 25" May 2015

NG woSThOH A BI'G)S0 BOHYLN)E?
(1) 213, 2015 (2) 25 25, 2015 (3) 21=~§, 2016 (4) 25 &, 2015

120) Which Academy announces Nobel Prizes
(1) Royal Society of Canada
(2) Royal Swedish Academy of Sciences
(3) Royal Norwegian Academy of Sciences
(4) Royal Society of New South Wales

| 5BS aioHido HEB0E 6sah?
(1) ochs Fpd &b 3w
(2) ToHS AS wsdD ©D PYS
(3) ToHS TVRADHS LEED WP ?oB‘JS
4) ooHS ¥ pd ud Srgdrs 3G)

30
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121)My mother is English teacher at a University.
(1) an @) the 3) a (4) are
122)Every day before sleeping, I turn off lights in my room.
(1) an (2) the (3) a (4) are
123)Moving to a foreign country is not easy thing to do. You have to
complete many formalities before that.
(1) an (2) the B) a (4) are
124) Though the is relevant, we need to consider all possible aspects.
(1) information (2) inform (3) informations (4) informing
125)Nowadays, a large number of are getting stressed out easily.
(1) Person (2) Peoples (3) People | (4) Personing

126) We do not have a of time, so let’s discuss this quickly.

(1) lot (2) much (3) enough 4) few
127) You must Golconda. It is an interesting historical monument.
(1) wisit (2) be visiting (3) isvisiting (4) wvisited

128)Raghav is not the meeting today because he has a medical emergency at
home.

(1) attend (2) attended (3) isattending  (4) attending

3P - . & [P.T.O.
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129) You must visit the handicrafts shop at the end of thisroad. It an excellent

variety of gift items.
(1) had (2) has (3) was (4) have

130)I _think the team will win the game tonight.

(1) don’t (2) doesn’t (3) " are ~(4) am
131)Gymna§tics a very difficult sport.

(1) am (2) 1s (3) were (4) are
132)Eighty days not enough to complete this project.

(1) are (2) is (3) were (4) am
133) We must talk what we can do as a community to reduce pollution in our

locality.

(1) at (2) about 3) i (4) for

134)To do this job, you don’t have to be particularly skilled anything.
(1) for (2) in (3) at (4) an

135)Most of the companies prefer to remain in touch with their clients
email.

(1) by @) in 3) to @) for
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13 6)Directions: In the question given below, there is a statement followed by two
assumptions numbered (I) and (II) . An assumption is something supposed or
taken for granted. You have to consider the statement and the given assumptions
and decide which of the assumption (s) is/are implicit in the statement.

Statement: The outer ring road has witnessed many accidents ever since it is
opened for public - City police commissioner in a press meet.

Assumpﬁon I: The outer ring road is not opened on auspicious day.

Assumption II: Drivers now will not violate the prescribed speed limit and
other traffic rules while travelling on the outer ring road.

(1) Ifonlyassumption (I)is implicit (2) If only assumption (II) is implicit
(3) Ifneither (I) nor (IT) is implicit  (4) Ifboth (I) and (II) are implicit
| druson & BHS' a8 HELS (Statement) $08050 Tod ‘FrI0DS wore’
(Assumptions) ascamon. 2.8 (HE0S BoHTRE SHRTHHEET dereor erdodS
©oTod 0D BOTIT EYISEY). ‘DN ©oTe’ VTGOS HELS Bohko
265008, S HELS S80I TI0AS vorws’ HOEVON HELS BoHEIs 2
©030 BT VoL FAOWTRT Krg0uod.

©ELS: - arirgSeod e |Yoio S0 T8 PHIrTeS JHonged - DBEH
DITFIFoS® K8 PO EHSE,

A0S woFo-k  wrPrgSech STl @odo HEFSHTTTS 2EHS.

rD0DS Bodo- Il arirgSech SITOD HRAPID FESHos 88D DD
IrR) DouE0E Erns ek 8.

(1) 2dodS woFo-1 S “(2)  grJoDE woFo-Il SeSHd
(3) 20D woFo-l Sobcw 1579 (4) r0DS woFo-1 $2005w I

137)Directions: In the question given below there is a statement followed by two

conclusions numbered (I) and (II). You have to assume everything in the

~ statement to be true, and then decide which of the two given conclusions

logically follow(s) beyond reasonable doubt, from the information given in the
statement. '

Statement: India faces worst dengue fever outbreak in years with more than
6,500 confirmed cases - a news report.

33 P.T.0.
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Conclusion I: The health minister is inefficient.
- Conclusion II: Dengue fever is spread by Aedes mosquito.
(1) Ifonly conclusion (I) follows  (2) If only conclusion (II) follows
(3) Ifneither (I) nor (II) follows (4) Ifboth (I) and (IT) follow
arsssen: & BHS* 28 @ELS (Statement) 58050 Bodh Agasren (Conclusions)
- asgagow. Ritag BELID Fg duomr IS 2 dFoiren BELS errdomr S0
SG,agor Bobadss* Hhgowsod.

DELS: 6,500 S0ds pr Borrg g8 erdder Goddo oo Bosrg wgdo
EEBFoS® Poosbor TghRrosd Beodod - u Tor &S0

&)Qo‘d:o- I @& hgrer $0@ ©dSG®

Dgoo- I: BoKrg 8560 &S G Homgos TgHR08.

(1) agoso- | SrES (2) agopo- Il S
(3) Rgoso- | Hooas» Il 579 (4) dgowo- 1 0050 I

138) Directions: In the question given below there is a statement followed by two

~ courses of actions numbered I and II. A course of action is a step or
administrative decision to be taken for improvement, follow-up or further action
in regard to the problem, policy, etc. On the basis of the information given in
the statement, you have to assume everything in the statement to be true, and

then decide which of the suggested course(s) of action logically follow(s) for
pursuing.

Statement: Nearly 700 people died in a stampede in city “X’ during annual
religious congregation.
Course of Action I:  People should not visit city ‘X’ in future.

Course of Action II:  The local administration should plan meticulously the
assembling and movement of people in the coming years.
(1) If only Course of Action (I) is suggested

- (2) If only Course of Action (II) is suggested
(3) If neither Course of Action (I) nor Course of Action (II) is suggested
(4) If both Course of Action (I) and Course of Action (II) are suggested
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drEse: aQ)S BHS® 28 HELS (Statement) 500050 Body B8 SORS Hgen

(Courses of action) astaaron. 808808 $65 HELSSR HHodgE HoI,J0
HrYEr Do FeLomS 00N ©Hes Jemd GoFd. HELSS" LS
©0T O QT OIT PROTO. YOS (HELDD $0ckn BRE SODS Hogess HOO0NS

DD Dt 80P DY) $BS dSrEEOT 3008,

Bg0s: X 3600s* e w8h $o8 H080ERS TEHER0S* FeSH) 0 oy 2OAS
&0 S e 700 ok Sodedomdd.

BSOS wog-l  e5ongss* 86 X KR SosgousTeD.

808 &S $6g-1l: @ 58 FoT H0068 VST TH'E JosHTes® PEen

SEFITSGhg D0, T KBS HPBA LB wET HiK0 HSC0
REgEroT.

(1) &HE80dS $og-1 P& ©f 8
2) BSOS 3651l SrEdH ©g 5o
(3) 2Sc2&S Toth BETYS BEgen B©SEIID

- (4) =¥geg Toky BE TS Hdgen ©f 38T

139)D1rect10ns In making decisions about important issues, it is desirable to be

able to distinguish between ‘strong’ and ‘weak’ arguments so far as they are
related to the issue. ‘Strong’ arguments must be both important and directly
related to the issue. ‘Weak” arguments may not be directly related to the question
and may be of minor importance or may be related to the trivial aspects of the
issue.

The statement given below is followed by two arguments numbered (I) and
(I). You have to decide which of the arguments is strong and which is weak.
Then decide which of the answers (1), (2), (3) or (4) is the correct answer.

Statement: Should the Prime Minister stop visiting other countries?

~ Argument]:  Why should he stop visiting other countries?

Argument IT: By frequent visits, lot of public money is wasted.
(1) Ifonly argument (I)is strong  (2) If only argument (II) is strong
(3) Ifneither (I) nor (II) is strong  (4) If both (I) and (II) are strong

[P.T.O.
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Srden: dgoirer 83085 S0t ¢ JPosred errds oot (arguments)

QD 2OPBD, I WOIFSTRD © BOD dokRo BSBE0. BOPS TTrwI HELSSD
078 I Howogo EDA Snegd3dmh o woyFEEgo EOASITSr dotrown.
& @HS* grorr .8 HELS (statement), Bodh arores (@rguments) ascamon.
2O DHELSD, TrosH HoEO0D A T VOPIEE, POLFSHSE* AFowoBos.
BELS:  BHES $0@ IBTOSH DYEo wHosrge?

Fo-l DBYErS0 BoSgHo QoS eHosrgd?

ao-ll: - s55r T HEghSe So BHarESo $HERBTI0 ©HeHod.

(1) a>&o-1 g aeoPs (2) >so-ll SrEH 2086
(3) aRS ot TTor 2SI FY (4) S Tokh TTed BOJSD

140) Directions: In the question given below there is a pair of events (I & II). You
have to read both the events (I) and (II); and then decide the nature of relationship
(cause and effect) that exists between them.

Eventl: The number of chain-snatching cases has increased in the recent
past.

EventII: Nowadays more people have started wearing chains.

(1) If(I)is the effect and (II) is its immediate and principal cause

(2) If(I)1s the immediate and principal cause and (II) is its effect

(3) If(I)isan effect but (I) is not its immediate and principal cause

(4) If(IT) is an effect but (I) is not its immediate and principal cause

& 80d /i)d Body HobSed (events) HOBOON 8 Hody &) SEWE Y (cause
and effect) Ho2057Q) dgonowod.

Pooead-l: Dods'Rd Moot Bodh W Fordare dopg & Sy DHDHSB.
SoPbs-Il & Sy S 5008 BeS* Feootd TESke Fnderirs.
(1) Rodoers-| Herso; od8 HEs sdwo Homeas-1I
(2) Hodotad-ll YHardo; T8 HEd s°Ewo HDodéad-I
3)

(4) Bopobd-ll Herso; 5 o8 KPS s6wo HoPdrs-1 5%

oA

o&8-1 HerSo; 5 T8 PFS s8mo Hodéxd-Il s
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141) In a row of forty five boys facing north, M is thn’teenth from the left end and S

is seventeenth from the right end. How many boys are present between S and
M in the row?

2.8 SBHdes* éﬁ‘d)e)@&bcﬁ) BrRF 45 5008 erendd Gand. kS $Hod 138 @«‘606‘

M ek, & Sod 178 :a‘;::’:oe‘s‘ S s, S, Me S08g 085008 erendd
an8o?
(1) 15 ) 16 3). 17 4) 18

142)If ‘A x B’ means ‘B is wife of A”; ‘A + B’ means ‘A is brother of B AYE

means ‘A is daughter of B’ and ‘A-B’ means ‘A is son of B’ , then how is R
related to S in ‘RxS-T+B * Q’?
(1) Wife (2) Husband  (3) Brother (4) Sister

‘Ax B osr ‘B, Acng, ey A+ B’ osm A, B&wg, rsdod; ‘A* B’ osm ‘A,
B @), Srebod; $0050 ‘A - B’ o ‘A, B (g, §60%0; wowd ‘RxS-T+B o
Q's* R, S & a%oned?

(1) erds (2) 4 (3) e (4) o

143)A,B,C.D and E are standing on a straight line. A,B and C are not at the extremes.

C is in the middle of A and B. No one stands towards right of E. B is standing
at third right of D. Who is standing next to E?

A, B, C, D 508050 E o€ 55689 0T e, A, B 50050 Cops 2 D58 8.
A, B o 5555° C erameh. E8 508398 56> 8. D& 858, Sw@* Fdos* B
wando. B 0§38 286 eanh?

1 C (2) D 3) A (4) B

144)In a code language, if WARANGAL is coded as XBSBMFZK, then how
ADILABAD should be coded in that language?

2§ 58 graes® WARANGAL o3 Sréodo XBSBMFZK e $rQ0d8gond, i

arhes® ADILABADSY Qe doDowd?
(1) BEJMBCBE (2) BEMIBCBE (3) BEIMZAZC (4) BEJMZBZD

145) What should come in the place of ‘?” in the following series?1,4,27,4,25,216,77

& 80b 2655° ‘7’ Fdos* d dopg 35087
1, 4, 27, 4, 25, 216, 7, ? _
(1) 49 2) 343 3) 512 @) 64

37 [P.T.O.
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146-150 questions Instructions : The following table shows the population of six
different towns, ratio of males to females among them, percentage of adult males
and minor females. (Population given in lakhs)

146-1650 DHoH Srssen : & 8ok NS HPES® e DTG BT, JHHA C:gaa
A8, HOWo* Tgaos (adult male) o Soosm Hos* 88 T80 asEo®.
(2372 Sopg ofos* [Sc0BSH)

TOWN | POPULATION | MALES : FEMALES | % ADULT MALES | % MINOR FEMALES
P 15 b5t 60% 35%
Q 1.0 kB 50% 30%
R 2.3 12+13 75% 50%
S 0.9 4:5 35% 40%
T 45 74 70% 25%

146) What is the minor male population of town P?
P $gmos® Yoot Jodsiod 38?
(1) 45,000 (2) 30,000 (3) 26,250 (4) 48,750

147) What is the adult female population of town Q?
‘Q sywos® &) QOS* JodBod Do (adults)?
(1) 12,000 (2) 30000  (3) 40,000 4) 28000

148) How many minors are present in Towns R and S together?
R $0050 S Hgeros &) Jogo DY Sopg J08?
(1) 1,33,000 (2) 30,000 (3) 42,000 (4) 65,000

149) What is the difference between male population of towns T and P?
T S00a50 P QTS YHDO Dy BE Jod?
(1) 1,25,000 (2) 147,000 (3) 2,10,000 (4) 1,35,000

150) The male population of town R is what percent more than female population

of town Q?
R Sgmos® &) Yoo Bopg Q HEwos @op dopg Eam) 08 TS0 IEYS?
1) 100% 2) 140% () 180% 4) 200%

R
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